July. 7. Discussion

Final . July 27 =4 pm. in lecture room.
(No resources allowedt)

2.00 points
1 questions
b worth 258 endh

1 worith 50 .

ontrapositiyes

If . Yhen stofement B |
ontraposi tive:

If not stotement B |, then :
Converse : stotemet A

Exomple: |f you drive the (A-60 westbownd, then you will be
in L-A., stofement D
Contraposi t:ve:
If you will nt be in LA, then yov do nat. drive the
CA-60 wost bownd

LLONWRPR:
l{ sfatement, B , then Stotement A.
CONverse.



it youmdlilein L.A., then gowdeive CR-0 wegthqwl.

AVQrse
If not stodement, A, then not stofement & .
lf W do not drive the CA-60 westhowsl , then fou will
not be in L.A.

let o.bn be integers . If ob s nol o intepr wuttiple of N/
then o 5 not o multiple of A tnd b s wdt & multiple of n.
C antropasitup: ot negotion of and " i "or" *: De Margans Law.
If o is o muttiple of n o7 b is o mutipl ofn, then ob &
o multk of n.
Proof of comtrpositive:
* Suppese (A s o muthiple of N . Then tlaere exists on Mt%l‘ k that
solisfies  ackn
So we huve
ab = (k)b
=(kb)n
Stnce kb is also on infeger, we conclude thi¥ ab s a nutple
. juPPose, b n & multiple of n. Then #hrere exrsts an integee | thot,
solisfles b=\ n
So we hove
abz (LN
=(aldn



we Co
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